SUPER JAW

| SERBEEEXRROBRAT
. AN43aPm A FEXBEBISTE248
ISEd|, 17 - 04-22785378 / 8 : 04-22706809

SUPER JAW INDUSTRY CO.,LTD.

® NO 7, Yun: ad, Taiping Dist

) EEBUHIRE BXESEE 4
» Professional manufacturer €

HikE E W8 / Edition 1,2020



Ir-FA BT 19705
%:E Established in 1970

HEREMEXNCERSHEE  mRE - RtELARNEE - BT #

FEEEATEMEM REME—RNERRRE 25  HEESEER

B EEDEAERRETS -

BEFEFNRELSAWA  EFRE MEEXSTER - EIRKES
EEREERIZIARNER - MAEREERANDREEIEEN

BARE  HEERAANIRAENS - BE - ARERMAER

HEABENC - BERRMBBERN—BEE -

| BT

© R RHBE ® hLERE ® E) i
O HEAER, oBRIFERE

Three guarantees to create more value.

TH R 1M B

WE ARE BEST TEAM

- % E'I- Eﬁ ﬁ fDwsian & develcprment

LD ArEERSolid Work#H I BEFRUERES
BE BRESEFRFLEQMNRER

—EMEEFEE . HIEBEKferER - HL
TESA - BEEMitutoyoHFBAEE  FREREL
18 7 Bl & ik & A0 10 BR

53 L J——

SHBEENEN RAESRANEEE  BsA
Enuennt @ aeREssuA

Accuracy is not just data,it is our attitude

RHSE > ||

MR =0 20 1 ol 22




SHIEE (SRR ) R - SERMRt
o WRFAMET

P.01- P.0B

HEEMARN '\ CRFEABIHE ? TROBIEEY , EENR  FDETEA -

SOFT JANS FOR Bar Fuller

DRAKIC OHUCKS ‘\’, Far OKC Luthe FREMILLT  MREMZREIEAGILES -
L _________

-

FEHREMENERY  EEE SR XER -

SPELIAL S0FT Ja FOR O SOFT Jd FOR ;', : oy
WIDRARIC CHUCKS WTIRALIC CHOKS ‘\\/ 5 » -

o TG 5T 60 87107 127 15 AR TR -

[
2

J J ® EENSR HRAESY EMEYME  FRETHNOEEELEDR ENRE -
_—‘\ m—\ o AENE_HATEA - TEREEEHMC T - ETREEE - OuEm - S22m
= » HOHNAFMETES THEMEZNN FTAEFE-@ -
1T B : ,
" | Q000
d EERNEE  TERatsk SRR EHEYE REE-mEN - wmiE EEQTARE HNARRRTIN
RIS R MO RET FRE - IPEHE00%  THENE VOoE - PEIAERSTHROED -
- (UmA) EwnE - 2RieR - (SUNL)
| &
C == PU
—
_ S
= op——
i I HEE { »
FORMING RISG
== p

HARD JWws FOR
HYDRAGLIC CHUKKS.

: - OA

Rt L,———'

DRSO

Y ﬂm SREMAN _ A @120 - @20

slise B @130 - ©30
L E—— SK#AT 4°5°6°,7°.8%,9"10°

P.21- P.22 c AR &RY 2 3M-4M 67

MYT
%
o

|

CHER® 4" 5" 6" 8°,10"

AfETES3~5kg




CH-04 CH-05 SOFT JAWS FOR HYDRAULIC CHUCKS

el 7 B D A Steel S50C CHUCK @110 @135
EEAREEE 1.5mm * 60° Serration Pitch 1.5mm *60° &41/UNIT:mm

Pitch 1.5&/:E

7 L2
e
Sl e :
2101 [ 11 _i_k:ﬁ{
|.c4 |
. L C ¢ C4 €5 C6 C7 €9 ClO €11 CI13 CI5 T Y
041430H 50 27 30 10 4 10 14 13.8 9 21 3 120° M8X20L 0.6
041440H 50 27 40 10 4 10 14 13.8 9 31 3 120° M8X20L 1.0
041450H 50 27 50 10 4 10 14 13.8 9 41 3 120° M8Xx20L 1.2
e CL C2 €3 €4 C5 C C7 €9 CIO Cll C13 CI5 N e o
051430H 62 27 30 10 4 10 14 13.8 9 21 3 120° M8X20L 0.9
051450H 62 27 50 10 4 10 14 13.8 9 41 3 120° M8x20L 1.5
051460H 62 27 60 10 4 10 14 13.8 9 51 3 120° M8x20L 1.7
051470H 62 27 70 10 4 10 14 13.8 9 61 3 120° M8x20L 2
051480H 62 27 80 10 4 10 14 13.8 9 71 3 120° M8X20L 2.3
051490H 62 27 90 10 4 10 14 13.8 9 81 3 120° M8x20L 2.6
0514100H 62 27 100 10 4 10 14 13.8 9 a1 3 120° M8x20L 3
051830H 62 27 30 10 4 10 18 13.8 9 21 3 120° M8x20L 0.9
051850H 62 27 50 10 4 10 18 13.8 9 41 3 120° MBX20L 1.5
051860H 62 27 60 10 4 10 18 13.8 g 51 3 120° MBX20L 1.7
051870H 62 27 70 10 4 10 18 13.8 9 61 3 120° MBX20L 2
051880H 62 27 80 10 4 10 18 13.8 9 71 3 120° M8x20L 2.3
051890H 62 27 90 10 4 10 18 13.8 9 81 3 120° MBX20L 2.6
0518100H 62 27 100 10 4 10 18 13.8 9 91 3 120° M8X20L 3
051930H 62 27 30 10 4 10 19 13.8 9 21 3 120° M8x20L 0.9
051950H 62 27 50 10 4 10 19 13.8 9 41 3 120° MaxzoL 1.5
051960H 62 27 60 10 4 10 19 13.8 g 51 3 120° MaxzoL 1.7
051970H 62 27 70 10 4 10 19 13.8 9 61 3 120° MBX20L e
051980H 62 27 80 10 4 10 19 13.8 9 71 3 1200 MBX20L 2.3
051990H 62 27 90 10 4 10 19 13.8 9 81 3 120° M8x20L 2.6
0519100H 62 27 100 10 4 10 19 13.8 9 a1 3 120° M8x20L 3

kB EREHREEX



CH-06 SOFT JAWS FOR HYDRAULIC CHUCKS
Mel#4 B P 588 Steel S50C CHUCK 99169
IREAEEE 1.5mm * 60° Serration Pitch 1.5mm % 60° ZEfI/UNIT:mm

Pitch 1.5@Em:#E

C6 C7 - 2
=113
| .k 3
co_ | |1 ’r |_£+
NS L(ﬁ.l _f_'

H?d% €1 €2 €3 ¢4 ¢ €8 €7 (9 Cilo0 Ci1 C13 (Ci5 M He,.j ,;-; o
061236H 73 3l 36 12 5 15 20 17 11 23 14 120" M10X25L 1.5
061250H 73 31 50 12 5 15 20 17 11 37 14 120" M10X25L 2
061260H 73 31 60 12 5 15 20 17 11 47 14 120" M10X25L 2.6
061270H 73 31 70 12 5 15 20 17 11 57 14 120 M10X25L 3
061280H 73 31 80 12 5 15 20 17 11 67 14 120° M10X25L 3.4
0612100H 73 31 100 12 5 15 20 17 11 87 14 120° M10X25L 4.2
061236H- 73 31 36 12 B 15 20 17 11 23 31 = M10X25L 1.7
061250H- 73 31 50 12 5 15 20 17 11 37 31 - M10X25L 2.2
061260H- 73 31 60 12 5 15 20 17 11 47 31 - M10X25L 2.8
061280H- 73 31 B0 12 5 15 20 17 11 67 3l = M10X25L 3.6
0612100H- 73 31 100 12 5 15 20 17 11 87 31 = M10X25L 4.3
0612130H- 73 31 130 12 5 15 20 17 11 117 31 - M10X25L 5.6
061236H = 120 73 31 36 12 5 10 20 17 11 23 3 120" M10X25L 1.5
061250H = 120 73 31 50 12 5 10 20 17 11 37 3 120° M10X25L 2
061260H = 120 73 31 60 12 § 10 20 17 11 47 3 120" M10X25L 2.5
061280H = 120 73 31 BO 12 5 10 20 17 1 67 3 120° M10X25L 3.3
0612100 * 120 73 31 100 12 5 10 20 17 11 87 3 120° M10X25L 4
0612120H * 120 73 31 120 12 5 10 20 17 1 107 3 120° M10X25L 4.8
061236H * 90 73 31 36 12 5 10 20 17 11 23 3 90° M10X25L 1.4
061250H * 90 73 31 50 12 5 10 20 17 11 37 3 90° M10X25L 1.9
061260H = 90 73 31 60 12 5 10 20 17 11 47 3 90° M10X25L 2.4
061280H * 90 73 31 80 12 5 10 20 17 11 67 3 90 M10X25L 3.2
061236H * 60 73 31 36 12 5 10 20 17 11 23 3 60° M10X25L 1:3
061260H * 60 73 31 60 12 5 10 20 17 11 47 3 60° M10X25L 2.2
061280H * 60 73 31 80 12 5 10 20 17 11 67 3 60° M10X25L 2.9

*please refer to the list of dimension for specimens



CH-08 SOFT JAWS FOR HYDRAULIC CHUCKS
el A4 B o g 8l Steel S50C CHUCK @210
fREARETEE 1.5mm * 60° Serration Pitch 1.5mm *60° E41/UNIT:mm

A

Pitch 1.0#/sE

[ 7 - ' €2
iNRE

I I e 3

col {11 J_l_ﬁl

© [ciz) e | T

- (L C2 €3 C4 C5 €6 C7 C9 Cl0O CI11 Cl2 C13 (15 W om s

081438H 9% 35 38 14 5 24 25 19 13 23 20.5 16 1200  MI2X30L 2.5
081450H 9% 38 50 14 5 24 25 19 13 35 20.5 16 1200  MI2X30L 3.2
081460H 9% 35 60 14 § 24 25 19 13 45 20.5 16 1207  N12X30L 3.8
081470H % 35 70 14 § 24 25 19 13 55 20.5 16 120"  M12X30L 4.4
081480H % 35 80 14 § 24 25 19 13 65 205 16 120"  M12xX30L 5.1
0814100H g% 35 100 14 § 24 25 19 13 85 205 16 120"  M12X30L 6.4
081438H- % 35 38 14 5 24 25 19 13 23 20.5 365 -  N12x30L 2.6
081460H- % 35 60 14 § 24 25 19 13 45 205 35 —  Ml2X30L 3.9
081480H- % 35 80 14 § 24 25 19 13 65 205 35 -  Ml2X30L 5.3
0814100H- g% 35 100 14 § 24 25 19 13 85 205 35 -  M2xX30L 6.6
0814120H- % 35 120 14 § 24 25 18 13 106 - 35— N12X30L 7.9
0814150H- % 35 150 14 § 24 25 19 13 136 - 3 - N12x3oL 9.8
0814200H- % 35 200 14 § 24 25 19 13 170 - 3 - N12Xx4sL 14
0814250H- g% 35 250 14 § 24 25 18 13 200 - 3 - N12XesL 18
081438H % 120 % 35 38 14 § 14 25 19 13 23 205 3 120"  M12x30L 2.5
081450H * 120 % 35 50 14 § 14 25 19 13 3 205 3 120"  M12xX30L 3.2
081450H * 120 % 35 60 14 5 14 25 19 13 45 20.5 3 1200  N12X30L 3.8
081480H * 120 % 35 80 14 § 14 25 19 13 65 205 3 120"  M12X30L 5.1
0814100H * 120 9% 35 100 14 § 14 25 19 13 8 205 3 120"  M12X30L 6.4
081438H » 90 9% 35 38 14 § 14 25 19 13 23 205 5 907  M12X30L 2.3
081450H » 90 % 35 60 14 5§ 14 25 19 13 45 205 5 90"  M12X30L 3.8
081480H * 90 %6 35 80 14 § 14 25 19 13 65 205 5 907  M12X30L 4.8
081438H * 60 %6 35 38 14 § 14 25 19 13 23 205 5 60"  M12X30L 2.1
081450H * 60 % 35 60 14 § 14 25 19 13 45 205 5 60"  M12X30L 2.8
081480H * 60 % 35 80 14 § 14 25 19 13 65 20,56 5 60"  Ml2xX30L 4.5

*PERTEHBE%



CH-10 SOFT JAWS FOR HYDRAULIC CHUCKS
Ml #4 B i 8l Steel S50C CHUCK @254

SREAREEE 1.5mm * 60° Serration Pitch 1.5mm * 60" & fi/UNIT:mm

Pitch 1.0/

Cb 7 - €2
IRE
TR 3
col T TT7 18
o l—m-l Iﬁ—l ‘_|_'

H?d% gL L2 3 (4 ¢& €5 ¢€F €8 CI0 Ci1 12 €13 CIS M Ne,.gﬁ kl; Y
101642H 110 40 42 16 5 30 3 19 13 27 20.5 18 120"  M12X30L 3.7
101650H 110 40 50 16 5 30 30 19 13 35 20.5 18 1200  M12x30L 4.2
101660H 110 40 60 16 5 30 30 19 13 45 20.5 18 120"  M12X30L 5.3
101680H 110 40 80 16 5 30 30 19 13 65 20.5 18 120"  MI12X30L 7.1
1016100H 110 40 100 16 5 30 30 19 13 85 20.5 18 120"  MI12X30L 8.8
101642H- 110 40 42 16 5 30 30 19 13 27 20.5 40 - M12X30L 3.8
101660H- 110 40 60 16 5 30 30 19 13 45 20.5 40 - M12X30L 5.4
101680H- 110 40 80 16 5 30 30 19 13 65 20.5 40 - M12X30L 7.2
1016100H- 110 40 100 16 5 30 30 19 13 85 20.5 40 - M12X30L 9
1016120H- 110 40 120 16 5 30 30 19 13 105 - 40 - M12X30L 1
1016150H- 110 946 48 I8 5 35 3 1% iF Jm 2= 40 - M12X30L  13.7
1016200H- 110 40 200 16 5 30 3 19 13 170 - 40 - M12x45L  18.2
1016250H- 110 40 250 16 5 30 30 19 13 200 - 40 - M12X65L  22.8
1016280H- 110 40 280 16 5 30 30 19 13 200 - 40 - M12X95L  25.5
101642H « 120 110 40 42 16 5 200 30 19 13 27 205 3 1200  M12x30L 3.7
101650H * 120 Y3 T, S 16 5 200 30 19 13 36 20.5 3 1200  M12x30L 4.3
101660H « 120 110 40 60 16 5 20 30 19 13 45 20.5 3 120"  M12X30L 5.1
101680H « 120 110 40 80 16 5 20 30 19 13 65 20.5 3 120"  M12X30L 6.9
1016100H = 120 110 40 100 16 5 20 30 19 13 85 20.5 3 120° M12X30L 8.5
101642H + 90 110 40 42 16 5 25 W A= 2 20.8 8§ ¢  MEIL 3.5
101660H » 90 110 40 60 16 5 20 30 19 13 45 2.5 5 90"  M12X30L 4.9
101680H + 90 110 40 80 16 5 20 30 19 13 65 20.5 5 90 M12X30L 6.7
101642H * 60 110 40 42 16 5 20 30 19 13 27 205 5 60"  M12x30L 3.4
101660H * 60 110 40 60 16 5 20 30 19 13 45 20.5 5 60"  Ml2X30L 4.8
1016804¢60 110 40 80 16 5 200 30 19 13 65 20.5 5 60  M12X30L 6.6

120°

*please refer to the list of dimension for specimen



CH-12 (8 %5E18%8) SOLID POWER CHUCKS (18R)

Pl 7 EE : ch Rk sl Steel S50C CHUCK @304
H#RESARETEE 1.5mm*k 60° Serration Pitch 1.5mm * 60" EfiI/UNIT:mm
P I o />\
[Fe] m
ey S(3
S Y
Cc1
C6 c7 2

C11

= [ciz] Lot
S 6L €2 3 €4 €5 €6 67 9 (00 LI Cl2 €18 €15 M ol s

121850H 129 50 50 18 6 39 30 23 16 30 20 22 120° M14X45L 6.5
121860H 129 50 60 18 6 39 30 23 16 40 20 22 120° M14X45L 7.8
121870H 129 50 70 18 6 39 30 23 16 50 20 22 120° M14X45L 9.1
121880H 129 50 80 18 6 39 30 23 16 60 20 22 120° M14X45L 10.5
12181004 129 50 100 18 6 39 30 23 16 80 20 22 1207 M14X45L 12.9
121850H =120 129 50 50 18 6 16 30 23 16 30 20 5 120° M14X45L 6.3
121860H = 120 129 50 60 18 6 16 30 23 16 40 20 5 120° M14X45L 7.5
121880H#* 120 129 50 80 18 6 16 30 23 16 60 20 ] 120° M14x45L 10.2
1218100H =120 129 50 100 18 6 16 30 23 16 80 20 5 120° M14x45L 12.5

CH-12 (+Z%Ea2178) HIGH SPEED HOLLOW POWER CHUCKS (21R)

A5 PR Steel S50C CHUCK @304

fEEAREFEE 1.5mm * 60° Serration Pitch 1.5mm % 60° Efi/UNIT:mm

e CL C 3 C4 C5 C6 C7 C9 CI0 CLl Cl2 €18 CI5 N oo rorcet

122150H 129 50 50 21 6 39 30 26 17 30 20 22 120"  M16X40L 6.2
122160H 129 50 60 21 6 39 30 26 17 40 20 22 120°  M16X40L 7.5
122170H 129 50 70 21 6 39 30 26 17 50 20 22 120°  M16Xx40L 8.9
122180H 129 50 80 21 6 39 30 26 17 60 20 22 120°  M16X40L 10.2
1221100H 129 50 100 21 6 39 30 26 17 80 20 22 120°  M16X40L 12.5
122150H =120 129 50 50 21 6 18 30 26 17 30 20 5 120°  M16x40L 6
122160H =120 129 50 60 21 6 18 30 26 17 40 20 5 120°  M16x40L 7.2
122180H =120 129 50 80 4 6 18 30 26 17 60 20 5 120° M16X40L 9.8
1221100H * 120 129 50 100 21 6 18 30 26 17 80 20 5 120° M16X40L 12.2

KU ERHERSE X



CH-15 CH-18 SOFT JAWS FOR HYDRAULIC CHUCKS
EHE- R Steel S50C CHUCK @381 @450

fEEMAEEE 1.5mm * 60° Serration Pitch 1.5mm % 60° E{7/UNIT:mm

—
iy &\_ﬁ_l_

7 -4
‘E_E_C -
Pitch 1.5&f:#E Pitch 3.0@&f:E
C1
c2
(ol : c7 .
el |]4
| o 2
cio] ] &
cEm sl I o 1
= |12 lca |
# EE
bt CL €2 €3 C4 C5 €6 C7 €9 CI0 (€11 CI2 M A et
152262H 165 62 62 22 B 37 43 32 21 38 18.5 M20X60L 12.8
152280H 165 62 80 22 8 37 43 32 21 56 18.5 M20X60L 16
1522100H 165 62 100 22 B 37 43 32 21 76 18.5 M20X60L 20
1522120H 165 62 120 22 B 37 43 32 21 06 18.5 M20X60L 25.1
1522150H 165 62 150 22 B 37 43 32 21 126 18.5 M20X60L 31.1
152262HK 165 62 62 22 B 21 43 32 21 38 18.5 M20X60L 12.8
152280Hk 165 62 80 22 8 21 43 32 21 56 18.5 MZ20Xx60L 12.8
1525.562H 165 62 62 25.5 5 37 43 32 21 38 18.5 MZ20Xx60L 12.8
1525.580H 165 62 80 25.5 5 37 43 32 21 56 18.5 MZ0Xx60L 16
1825.562H 165 62 62 25.5 5 37 43 32 21 38 18.5 M20X60L 12.8
1825.5100H 165 62 100 25.5 5 37 43 32 21 76 18.5 M20X60L 20.5
CH-21 CH-24 SOFT JAWS FOR HYDRAULIC CHUCKS
Bl A4 BT ch Ak A Steel S50C CHUCK @530 @610
IREEAREREE 3.0mm * 60° Serration Pitch 3.0mm * 60° E{iI/UNIT.:mm
s L C € C4 € € C7 €9 Cl0 Cll CI2 I
212570H 180 62 70 25 9 40 60 32 21 45 = M20XE0L 16.3
2125100H 180 62 100 25 9 40 60 32 21 75 - M20X60L 22.9
242570H 180 62 70 25 9 40 60 32 21 45 - M20X60L 16.3
2425100H 180 62 100 25 9 40 60 32 21 75 = M20X60L 22.9

*please refer to the list of dimension for specimenk



=+ T4 .
85K AT SPECIAL SOFT JAWS FOR HYDRAULIC CHUCKS
el #425: p i3k 8f Steel S50C CHUCK @169 @210 @254
HEEAAEIEE 1.5mm * 60° Serration Pitch 1.5mm % 60° BEA/UNIT:mm

e .
Ko
s S =
Pitch 1.5&E#E
C6 __CI Cj &2
i
o 3
T AT
| c4 |
o e c1 c2 c3 c4 c6 c7 N it G
0673L50N50H 73 50 50 12 15(10) 20 M10X25L 3.6
0673L50W80H 73 50 80 12 15(10) 20 M10X25L 6
CH-06 0673L60W60H 73 60 60 12 15(10) 20 M10X25L 5.4
0680L31W36H 80 3l 36 12 15(10) 20 M10X25L 1.8
06110L31W60H 110 3l 60 12 15(10) 20 M10X25L 4.2
0895L50W50H 95 50 50 14 24(14) 25 M12X30L 4.8
0895L50W70H 95 50 70 14 24(14) 25 MI12X30L 6.9
0895L50W150H 95 50 150 14 24(14) 25 MI12X30L 15
0895L 60W50H 95 60 50 14 24(14) 25 MI12X30L 6.3
Ciieg 0895L 70W50H 95 70 50 14 24(14) 25 M12X30L 6.9
hi0s 0895L 80W50H 95 80 50 14 24(14) 25 MI2X30L 8.7
0895L 100W50H 95 100 50 14 24(14) 25 MI12X30L 10.8
08120L35W60H 120 35 60 14 24(14) 25 M12X30L 5.7
08150L35W50H 150 35 50 14 24(14) 25 M12X30L 6
08200L35W50H 200 35 50 14 24(14) 25 M12X30L 7.8
10110L50W50H 110 50 50 16 30(20) 30 M12X30L 5.7
10110L50W70H 110 50 70 16 30 20) 30 M12X30L 8.1
10110L50W100H 110 50 100 16 30(20) 30 M12X30L 11.4
10110L60WS50H 110 60 50 16 30(20) 30 M12X30L 7.3
CH-10 10110L60W80H 110 60 80 16 30(20) 30 M12X30L 1.7
10110L80W60H 110 80 60 16 3020) 30 M12X30L 12
10110L100W50H 110 100 50 16 30(20) 30 M12X30L 11.8
10150L40W60H 150 40 60 16 30(20) 30 MI12X30L 8
10180L40W60H 180 40 60 16 30(20) 30 M12X30L 9.8
10230L40W60H 230 40 60 16 30(20) 30 M12X30L 1.7

X ERHER2E*



T BB 15

B4 B AL+ (SCM440)

TEENUT SET

1
I
Hi

EM/UNIT:mm

N
NI

NN

51l - v

i L W H A B C H K M EwmeNEs
TA05B205 26 15 15 0 - 14 5.5 - M8X20L  OP-204/0P-205 B-204/BT204/B-205/BT205
TA05B205-16 30 15 15 10 - 18 5.5 - M8X20L  0P20506C B-05/BT05/H0B-5/HOBT-5
TA05B205-13 : 32 15 18 10 - 19 5.5 - M8X20L N-05/NT05/HJ-5
TAQ6B206 36.5 17.5 18.5 12 - 20 7.5 - M10X25L  OP-206 BB206/B-206/HOH-206/BL206
TA0BB208 46.5 20.5 205 14 - 25 8.5 - M12X30L  op-208 B-208/BB8208/BS308/BT208
TA108210 51 2.5 21.5 16 - 30 8.5 - M12X30L  oP-210 8-210/B8210/BS310/8T210
TA12B212 55.5  29.5 28 21 - 30 11.5 - M1BX40L  OP-212 B-212/B1212/BL212/BTL212
TA15B215 80 33.5 46 2 2 & 16.5 8.2  M20X60L  QP-215/0P-218 B-215
TA21B221 90 37.5 45 25 - 50 19 - M20X60L  oP-221/CL-210P B8-21/8-24
Th24B224 100  37.5 45 5 - 60 19 - M20X60L  OP-224/CL-240P B-21/8-24
TAQ6BO6 6.5 17.5 22.5 12 - 20 1.5 - M1OX30L  CL-06 B-06/BT06
TA08BO8 48 205 25.5 14 - 25 9.5 - M12x35L  CL-08 8-08/BT08
TA10B10 55 2.5 25.5 16 - 30 9.5 —  M12X35L  CL-10 B-10/BT10
TA12812 55.5 26.5 33.5 18 - 30 13.5 - M14x4sL  cL-12 B-12/BT12
TA15B15 80 35 39 255 - 43 19 - M20X60L  CL-15(DP)/CL-18(DP)  B-15/BT15/B-18

R T RSB (Transformation type)

PG WEA EWB A C M HooORENE xmh o#me A8 c ! H
TAQ6B206-B205 6" 5” 12—10 14 MBX20L  18.5 | Th06B206-B208 6" 8" 12—14 25 M10X25L 18.5
TA08B208-8206 8" 6” 14—12 20 M10X25L  20.5 | Th08B208-B210 8" 10" 14-16 30 M12X30L 20.5
Tal08210-8208 10" 8” 16—14 25  M12X30L 21.5 | TAL28212-8210 12" 10" 21—16 30 M12X35L 28.5

[#67K ~FHEF 3R] PLEASE FILL THE BLANKS BELOW, IF YOU NEED SPECIFIC ONE(S)

*please refer to the list of dimension for specimenk



E ﬂ i E 52 ﬂE m A2 2: PRk# Steel S50C

WRAPPED SOFT JAWS I fry: oz By T K X ETo Serration Pitch 1.5mm * 60° Efi7/UNIT:mm

19218 B N ry ra o SN - 8
Lorid) Mode1 CL C2 €3 C4 C6 C7 Cl3 M @ ‘Weight Ka/set.

CH-05 05115W30H 60 115 30 10 12 14 256 M8 (@125 3.2

06130W44H 71 130 44 12 156 20 31 M0 @165 6.8
CH-06
06130W54H 71 130 54 12 15 20 31 MO @165 7.5

5 08180W44H 93 180 44 14 24 256 35 M2 @210 12.4
CH-08

= | 08180WS4H 93 180 54 14 24 256 35 M2 @210 15.5

10210W54H 108 210 54 16 30 30 40 M2 @254 22.6
RHELD 10210W64H 108 210 64 16 30 30 40 M2 @254 31.5

|
l’ i

s
C?ICS

Ch-12  12310wW54H 127 310 54 21 39 30 50 M6 @310 43

€13

FE#%E: B+ SNCM21
FORMING RING (3-JAW) E£1/UNIT:mm

o A B D H«‘iﬁ: to/sit
FHO4 o115 55 013 0.5
FN05 135 75 013 0.8
FN05 o167 85 016.5 3.1
FMOB @17 o115 018.5 2.4
FML0 @257 150 218.5 3
FM12-18 @308 2190 022.5 5.1
FM12-21 @308 @190 025.5 5.2
FMlI5 @380 @230 231.5 9.6

19817 —_M EME: 5+F SNCM21

FORMING RING (2-JAW) E£1/UNIT:mm

. EE
Size A B 0 Weignt Ko/set
FM08-2 @217 o115 018.5 2.8
FM10-2 @257 2150 018.5 3.7

P9 | KL ERTHEHBEK



JHERRE T\

FOR HYDRAULIC CHUCK

HARD JAWS

A E: A+ SNCM21
EEREEE 1.5mm % 60°

Serration Pitch 1.5mm *60° #41/UNIT:mm

_(&‘5 Emg ) = 1 AUV 2
i{v N ; FIG. 1 &3@ ai@' FIG. 2
[._-LE_H_,-* 7 B-7 |H-7
- H-1 4@ Hp Ht
l 8 Hett | T P 16| o
SR frin _ 3
R dis e wl t 4 | e . BOrT \m
e i I i \H10 ™ i
B | 2 -5 M- 4 L] &
vode1 H1 H2 H-3 H-4 H-5 H-6 H-7 H-8 H-9  H-10 pororemerawing Weishe ko/set
HJ-06 63 23 28 10 a 29 14 24 10 M8X1.26P 2 0.5
'HI-06 67 31 36 12 5 39 20 28 12 M10X1.5P 2 1
I-!J—OB 87 35 51 14 5 29.5 25 18 12 M12X1.75P 1
HJ-10 101 40 54 16 5 45.5 30 18 13 M12X1.75P 1 2.9
HI-12 108 50 67 21(18) 4(5) 49 30 20 16  M16X2P(M14X2P) 1 3.7
H3-15 143 62 86 22(25.5) 8(H) 55 43 38 20 M20x2.5P 1 10
| &H=RE
- I\ Em 155 Steel S50C
| sorriaws BEacted X Steel S50 -
FOR PULL BACK POWER CHUCK EAI/UNIT:mm

o A B C D E F H J K L M N G e i
$-06 70 34 3 = 10 10 43 23 3.0 3.0 21 15.5 M14X2P 1
$-08 84 445 40 26 12 16 53 20 3.5 3.5 29 13.5  M12X1.75P 2
$-10 100 495 50 32 15 18 62 23 35 35 3 3R M14X2P 2
5-12 545 60 3 17 20 78 26 35 35 3 17.5 M16X2P 2

120

HIH} 28

52 16

& T ——F

CNCE R=EFH#88 Bar Puller For CNC Lathe

RUSR/Mode G-FA 20 G-FA 25  G-FA 32
TR 0-52@m/m 0~-52@m/m 0-52@m/m
HiFHE 0-25kg 0-25kg 0-26kg
BiEE 2m/m 2m/m 2m/m
A d @20 025 @32

*please refer to the list of dimension for specimen




=iilH
HOWA

Pitch 1.5&m:E Pitch 3.0mfk:#E
1 )
6 7 c2
SIRRE
c1of I! : ”’8
¢ (171 118
' |C4. f
051630H 62 25 30 11 4 10 16 13.8 9 21 3 120 Mg 0.9
051650H 62 25 50 11 4 10 16 13.8 9 41 3120 M8 1.5
061236H 73 31 3% 12 5 5 20 17 1 23 14 120° M10 1.5
061250H 73 31 50 12 5§ 15 20 17 11 37 14 120° M10 2

081638H 95 35 38 16 5 24 25 18 13 23 16 120° M12 2.4
081650H 95 35 50 16 5 24 25 19 13 35 16 120° M12 3.2 |
101842H 110 40 42 18 5 30 30 23 16 27 18 120° M14 3.7
101850H 110 40 50 18 5 30 30 23 16 35 18 120° M14 4
122150HF 129 50 50 21 6 39 35 26 17 30 22 120° M16 6.2 TI
122180HF 129 50 80 21 6 39 35 26 17 60 22 120° M16 10 :

=ilH
HOWA

152660H 135 50 60 26 8 37 4 32 A 35 2 = M20 9.5

1526100H 136 50 100 26 g 37 43 3 21 75 = = M20 17.2

P.11 *BLERJEHRSEX



\G-FA

e

AR H AR TR B AR
Chunk number Compatible Chunk number
| 4 HO24M5
5 (HO7MASB) HO22M6 HO23M8 HO24Mé (HO27M6) HO34M6 HO37Mé HO5Mé HO32M8
8 (HO7MAB)
15  HO1MA18~24
(MO7MA10)  HO22M8  HO23M10  HO24M8  (HO27M8) HO34M8 HO37M8  HO32M10

(HO7TMA12) HO22M10 HO23M12 HO24M10 (HO27M10) HO34M10 HO37M10 HO32M12
2 (HO7MA1S5) HO22M12 HO23M15 HO24M12

4 HO27M5 HO32Mé
12 (HO27M12)  HO34M12

*please refer to the list of dimension for specimen



gﬁjj E mTONGUE & GROOVED SOFT JAW

EM P ikl Steel S50C & {{/UNIT:mm
g 9
PN ERIENED L]
(OF T 10Ora )=
i/
f : £ : !
<
5 . o
; B
ok MM p1 €2 €3 04 €5 06 OF £ 09 010 18 B M e wr
SK-4 SK0430 52 19 30 24 9.53 7.94 2.5 3 6 21 3 1200 M6 0.5
SK-5 SK0535 62 27 35 32 12.68 7.94 3 3.5 31 24 3 1200 M8 1
SK0637-8 78 27 37 3.1 1268 7.94 3 3.5 4.5 25 5 120" M8 13
SK-06 SK0650-8 78 27 50 3.1 12.68 7.94 3 3.5 41.5 38 5 120° M8 1.8
(M8) SK0660-8 78 27 60 3.1 12.68 7.94 3 3.5 41.5 48 5 1200 M8 2.2
$K0680-8 78 27 80 38.1 12.68 7.94 3 3.5 4.5 68 5 1200 M8 3.1
SK06100-8 78 27 100 3.1 12.68 7.94 3 3.5 41.5 88 5 120" M8 4.2
SK0748 95 31 48 44.45 12.68 7.94 3 3.5 47.5 35 10 120° MO 2.7
SK0760 95 31 60 44.45 12.68 7.94 3 3.5 47.5 47 10 120" M1D 3.4
SK-07 SK0770 95 31 70 44.45 12.68 7.94 3 3.5 47.5 57 10 120° M1D 4
(SK~08) SK0748*120 95 31 48 44.45 12.68 7.94 3 3.5 57.5 35 3 120" M1D 2.6
SK0760*120 95 31 60 44.45 12.68 7.94 3 3.5 57.5 47 3 120° M10 3.3
SK0770*120 95 31 70 44.45 12.68 7.94 3 3.5 57.5 57 3  120° M1 3.9
$K0950 110 37 50 54 19.03 12.7 3 3.5 55 36 14 120" ML2 4
SK0960 110 37 60 54 19.03 12.7 3 3.5 55 46 14 1200 ML2 5.1
SK-09 $K0970 110 37 70 54 19.03 12.7 3 3.5 85 56 14 1200 M12 5.4
EeEl) $K0950%120 110 37 50 S IgunE EHF 3 BS E @3 e N2 3.8
SK0960*120 110 37 60 54 19.03 12.7 3 3.5 65 46 3 1200 ML2 4.9
$K0970*120 110 37 70 54 19.03 12.7 3 3.5 65 56 3 1200 ML2 5.2
SK1250 126 40 50 63.5 19.03 12.7 3 3.5 62.5 36 17 120" M2 §
SK1260 125 40 60 63.5 19.03 12.7 3 3.5 62.5 46 17 1200 M2 6
SK-12 k1270 125 40 70 63.5 19.03 12.7 3 3.5 62.5 56 17 1200 ML2 7
SK1250*120 126 40 50 63.5 19.03 12.7 3 3.5 72.5 3 3 1200 M2 4.9
SK1260*120 125 40 60 63.5 19.03 12.7 3 3.5 72.5 46 3 1200 ML2 5.9
SK-16 $K1670 160 50 70 76.2 19.03 12.7 6 5.5 80 48 - 120" M6 10.7
(SK-19)  sxi6100 160 50 100 76.2 19.03 12.7 6 5.5 80 78 - 120 M1 15.3
SK-20 $K2070 160 50 70 76.2 19.03 12.7 6 5.5 80 48 - 1200 M2 10.5

R ERTHEHS2EK



B A 455 A toncueaGroovepsorTiaw  SPECIAL

b A1 B P il Steel S50C E17/UNIT:mm
} Cc9
) IRRIPEN
1r 1 10r
RN
| ct | a —
| i
i 3
[ 1] [i]
i
| [ce]
c4
an i 61 2 oy c4 cs c6 co T,
SK-06 SK06110L31W40 110 3l 40 381  12.68  7.94 73.5 M8 2.8
(M8) SK06110L31K60 110 3l 60  38.1 12.68  7.94 73.5 M8 3.9
SK07130L40W50 130 40 50  44.45  12.68  7.94 82.5 M10 5.5
{gtgg) SK07150L40W50 150 40 50  44.45  12.68  7.94 102.5 M10 6
SK07150L 4060 150 40 60  44.45  12.68  7.94 102.5 M10 1.5
SK09150L 40W50 150 40 50 54 19.03  12.7 95 M12 6.3
SK09150L40W60 150 40 60 54 19.03  12.7 95 M12 7.5
SK-09 SK09180L40W60 180 40 60 54 19.03  12.7 125 M12 9
(SK-10) SK09180L40N80 180 40 80 54 19.03  12.7 125 M12 12
SK09200L40W60 200 40 60 54 19.03  12.7 145 M12 9.9
SK09230L40W70 230 40 70 54 19.03  12.7 175 M12 13.8
SK12150L40W50 150 40 50  63.5 19.03  12.7 87.5 M12 6
SK12150L 4060 150 40 60  63.5 19.03  12.7 87.5 M12 7.5
SK12180L40W60 180 40 60  63.5 19.03  12.7 117.5 M12 9
SK-12 SK12200L40W60 200 40 60 63.5 19.03 127 137.5 12 9.9
SK12220L50W75 220 50 75  63.5 19.03  12.7 157.5 M12 17.4
SK12280L50W60 280 50 60  63.5 19.03  12.7 217.5 M12 18
$K12290L50W70 290 50 70 63.5 19.03  12.7 227.5 M12 21.9
SK-16 SK16250L50W70 250 50 70 76.2 19.03  12.7 170 M16 17.7
(SK-15) SK16300L50W70 300 50 70 76.2 19.03 12.7 220 16 22.5

*please refer to the list of dimension for specimenk



CPT-WE 2R N0217 216 B
B B AUINIT:mm
] Ehikan A B D E E1 F G H H1 1 ) K L
oPT-204 — 110 59 85 = — — 4 — 70.6 —= = 26 4-M10x1.5P  —
OPT-205 A4 135 60 110 63.513 20 = 4 96 82.6 FCD@118  4-M8x1.25P 33 4-M10x1.5P 15
oPT-206 A5 169 81 140  82.563 15 = 5 116 104.8 FCD@145  6-M10x1.5P a5 6-M10x1.5P 16
0PT-208 A-6(A:-5) 210 91 170 106.375 17 23 5 150 133.4 PCO@1B0  6-M10x1.5P 52 6-M12x1.75P 18
0PT-210 A:—B (A:—6) 254 100 220  138.719 18 28 5 190 171.4 PCD@226  6-M12x1.75P 75 6-M16x2P 23
oPT-212 A8 304 110 220 139.719 1B - 6 190 171.4 PCD@250  6-M12x1.75P 91 B-M16x2P 5
OPT-215 A8 (A:-6) 381 133 300  196.869 22 33 6 260 235 PCD@324  6-M12x1.75P  117.5  6-M20x2.5P 28
e M NN mg _a B P a R s T u v W X ¥ o et e e
OPT-204 14 23 20.3 11.5 6.7 3.5 -6.5 23 10 17.5 2 M32x1.5P 12 24  49.5 = 26 10
OPT-205 14 26.2 23.5 19 & 1 -9 25 10 20 2 Maoxl.5P 12  31.5 62 g 33 10
OPT-206 20 32.35 20.6 24 7 11 -1 31 12 19 2 M55x2P 20 375 73 — 45 12
OPT-208 25 39,1 35.4 30 10 14.5 ~-1.5 35 14 205 2 M60x2P 30 39.5 95  104.8 52 16
0PT-210 30 515 47.1 34 12 8.5 -10.5 40 16 25 2 M85x2P 40 43 110 133.4 75 19
oPT-212 30 61.6 56.3 46 12 B -1§ 50 21 28 2 Mioox2p 50 51 129 = 91 23
0PT-215 43 @23 77 4 13 7.5 -16 62 22 42.5 2  M130x2P 48  66.5 165 117.5 117.5 23
BASIRAE ik s‘r-&ﬁ"m '..E?.’.Lf .::f»ﬁf’{:’r n.@ﬂ’ﬁ?: ::EF?;H. u’a;t , SRR LERER
OPT-204 5.4 8000 S20 9 1930 (19} 15.5 (1.5) HMa2xl.5P POS28 279110
OPT-205 5.4 7000 1120 {11} 2340 (23) 19 (1.9 M40x1.5P P1036 @N0-~135
OPT-206 5.5 ao0oo0 1420 143 arvo  an 18.5 (1.8) MS5x2P Pl246 S13~D163
OPT-208 7.4 5000 2240 (22) 5710  (56) 17 A.n MB0x2P P1552 @13-2210
OPT-210 8.8 4200 2850 282 1440 (73} 18 (1.8) MBSXZP P187% D3I0~A254
oPT-212 10.6 3300 3670 (36) 9690 (95) 18 (1.8) M100x2P P2091 @35-0304
orT2ls 10.-6 2500 4780 n 12130 (119 17 .n M130x2F 2511 P35-pz81
=MEE P 2= IR 3-JAW HIGH SPEED HOLLOW POWER CHUCKS
Gee
o BALUNITmim
R EHAEEE A B & 0 E E1 F G H H1 11 H2 12 H3
oP-204 - 10 59 85 - - - 4 = 70.6 - - - - -
OP-205 Ae-A 138 60 110 63.513 20 —_— 4 o6 82.6 PCD=118 H—MB).<1-2EP - - -_—
0P-206 A5 169 81 140 B2.563 15 --  § 116 104.8 PCO@L45S  6-M1Ox1.5P - - -
ap-208 Az 6 (A-5) 210 91 170 106.375 17 23 5 150 133.4 F“CDE}lBO 6-MLOx1.5P - - -
0p-210 A-8(A:-6) 254 100 220 139.71¢ 18 28 5 190 171.4 PCD@225  6-M12x1.75P - - -
op-212 Az-8 304 110 220 139.719 18 == ] 190 171.4 PCD=250 G6—M12x1.75F == e s
oP-21% A:-11(A:-B) 381 133 300 196.869 22 33 & 260 235 == . PCD@230 3-M12x1.75P PCO@300
oP-21B Az=11 (A:-B) 450 133 300 196.869 22 33 =] 260 235 FCDB®Z30 3-MiZxl.75P FPCO@300 3-M12xL.75F PCO@3B0
op-221 A-15CA--11) 530 140 380 285.775 27 41 6  330.2  330.2 PCD@300 3-M16x2P PCDZ380 3-M16x2P  PCD@460
oP-224 A-20(A-~15) 610 149 520 412.745 27 42 6  463.6  463.6 PCD@350 3-M16x2P PCDD450 3-M16x2F  PCO@550
OP-2108H A-8(A—6) 254 100 220 139.719 18 28 & 190 190 = = PCDZ160  3-M12x1.75P PCD@220
oP-212BH A:-B 3ao4g 108 220 139.719 18 B ] 190 190 == - PCD2170 3-M1Ex2P PCO@®260
e 13 J K SR e u v W X
0P-204 - 26 3-MlOx1.SP — 14 23 20.3 11.5 6.7 3.5 -65 23 10 17.5 2 Ma2x1.5P 12 24 49.5
oP-205 - a3 3-M10x1.5PF 15 14 26.2 23.5 19 & 1 -9 25 10 20 2 MAOx1.5P 12 21.8 &2
0P-206 - 45  5-M10x1.5P 16 20 32.35 29.6 24 7 11 -1 31 12 19 2 M55xeP 20 37.5 73
OF-208 == 52 6-M12x1.75F 16 25 39.1 35.4 30 10 14.5 -1.5 35 14 20.5 2 MEOx2P ao 39.5 a5
0P-210 — 75 6-Ml6x2P 23 30 51.5 47.1 34 12 B.5 -10.5 40 16 25 2  MB5x2P 40 43 ai0
oP-212 — 91 G-M1Gx2P 25 30 G1.6G 56.3 46 1z 8 =15 50 21 28 2 MLOOx2P 50 51 129
0P-215 3-M12x1.75P 117.5 6-M20x2.5F 28 43 82.3 77 46 13 7.5 -16 62 22 42.5 5 M30x2P 48  66.5 165
0P-218 3-M12x1.75F 120 5-M20x2.5F 2B 43 B83.8 78.5 78 18 7.5 -16 62 22 42.5 5 MLaDxeP 48  66.5 165
oP-221 3-M1612P 180 6-M24x3P 35 60 119.6 114.3 63.3 21.3 10.5 -13 65 25 42.5 5 MI95x2®P BO  73.5 180
oP-224 3-M16x2P 205 6-M24xap a3 60 134.4 128.4 87.3 21.3 13.5 -1l 65 25 41 5 M2ZOx3® BO  73.5 180
OP-210BH  3-M12x1.75P 78 6-M16x2P 24 30 53.1 48.6 33.55 11.05 8.95 -10.55 40 16 26 2  MB7x2P 40 43 110
0P-2128H 3-M16x2P 93 6-M15x2P 27 30 3.7 58.7 45.55 12.55 8.65 -13.05 50 21 26 2  MLO3x2r 50 51 129
Bt ¥ i e e I e T o, e L A L L o e JEeem
= T i i rao.mguin Kat LT i i i el L metoming Gpiinoer
oP-204 =T 26 10 5.4 8000 1428 (14) 2850 (28) 24 (2.3 3.8 P0928 B7-@110
0P-208 — a3 ‘10 5.4 7000 1730 A7) 3570 @35 20 2.8 6.1 P1036 @10-@13s
0P-206 — a5 12 5.5 6000 2140 (210 5710 (56) 28 (2.7 12.5 P1246 @13-2169
aP-208 104.8 52 16 7.4 6000 3360 {332 8360 B2) 26 2.5 21.9 Pl552 e13-@210
_ oP=210  133.4 75 18 8.8 4200 4280 (42) 11010 (108) 27 (2.6 33.7 P1875 @30-@254
oF-212 == 81 23 10.6 3300 5500 {54 14380 (141} 27 (2.8) 55.3 P2031 D35~S304
oP-215 171.4 117.5 23 10.6 2500 7140 (70) 18250 (179) 24.5  (2.4) 106.8 P2511 ?35-2381
oP-218 171.4 120 23 10.6 2000 7140 (7o) 18250 (179) 24.5 (2.4 152 P2511 Dav-maso
oP-221 235 180 23 10.6 1700 9080 (89) 23760 (233) 23.5 (2.3) 195.2 P340 ©115~@530
Op-224 330.2 205 26 12 1400 903(‘.‘_ (39_) 23760 (233) 23.5 (2.3) 269.4 P3420 @140-E3610
OP-2108H 133.4 78 19.5 g 4200 4280 (42) 11010 (108) 27 (2.8 36.7 P1878 @30~ @254
0P-2128H — 93 21 10 3300 5500 (54) 14380 (141) 28 (2.7) 57.4 P2093 235-2304
P15 | AU ERTEHBEK

TS 3R o 22 IR S BR

2-JAW HIGH SPEED HOLLOW POWER CHUCKS




2 RITEHMICER
LONG STROKE HOLLOW POWER CHUCKS

E{UNITm
1
Lz /10 THBREE ) B % 0 E B F G H H1 11
0P-206L A5 173 87 140 82.563 15 oo 5 116 104.8 PCDEI0 3-M8x1.25P
~ 0P-208L Ae6 (Ae=5) 215 103 170 106.375 17 23 5 150 133.4 PCOR120 3-M8x1.25P
oP-210L ] A—B (A:—B) 256 112 220 139.719 18 28 5 130 171.4 PCO@160 3-Ml2x1.75P
OPT-206L A5 173 87 140 82.563 15 - 5 116 104.8 PCO@145 6-M10x1.5P
0PT-208L A6 (A:=5) 215 103 170 106.375 17 23 5 150 133.4 PCO@180 6-MLOX1.5P
COPT-210L A:-8 (h:-6) 256 112 220 139.719 18 28 5 190 171.4 PCO@225 6-ML2x1.75P
; .
b H2 12 J K L M . o s o
Op-206L PCO@140 3-M8x1.25P 45 6-H10x1.5P 15 20 39.07 33.46 21.05 10.55
 OP-208L PCOE170 3-MBX1.25P 52 6-M12x1.75P 21 25 47.85 39.66 25.05 13.05
0P-210L PCD@220 3-H12x1.75P 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55
OPT-206L -- -- 45 6-H10x1.5P 15 20 39.07 33.46 21.05 10.56
OPT-208L - -- 52 6-N12x1.75P 21 25 47.85 39.66 25.05 13.05
OPT-210L = = 75 B-M16x2P 22 30 61.34 57.06 29.05 12.55
T Ceai
%ﬁ{;ﬁg m.':. n'ﬁm 0 R S T u v W X Y [Tj;r:ngf;r? Plunger Stroke
m (mm)
0OP-2061 11 -4 31 12 19 2 M55x2P 20 a7.5 73 - 45 15
- op-208L 14.5 7.5 35 14 20.5 2 MB0x2P 30 39.5 95 104.8 52 22
op-ziol 8.5 -16.5 a0 16 25 2 MB5x2P 40 a3 110 133.4 75 25
OPT-206L 1 -4 31 12 19 2 M55x2P 20 37.5 73 - 15 15
 OPT-208L 14.5 -7.5 35 14 20.5 k3 MB0x2P 30 39.5 95 104.8 52 22
_oPT-210L 8.5  -16.5 40 16 25 2 MBSx2P 40 43 110 1334 75 25
MiTE (Ef) EEEHE |AAIN EABRESH FARCHEED BE BT
B/ RS Jaw Stroke Max.Speed Hax.Pull Max.Gripping Max.Hydr.Pressure Weignt R Eripoing R
MOCE2Ed [Diameter] r.p.m(min Force Force kaf jemt (ka) Matching Cylinger ' 'PP1N9 Range
(mm) kaf ) kaf R (Mpa)
 0P-206L 10.8 4300 240 0D 4080 a0 28 2.1 14.9 P1246 ©20~0173
0P-208L 16 3500 3360 (33) 5910 (58) 26 (2.5 37 P1552 ©25-0215
 op-zioL 18 3000 4280 42y 7540 74 27 2.5 40.6 1875 B40-@256
0PT-206L 10.8 4300 1420 (14 2650 (26) 18.5 (1.8 14.5 P1246 ©20-2173
OPT-208L 16 3500 2240 @2 3870 (38 17 a.n 26.4 P1552 ©25-0215
OpPT-210L 18 3000 2850 28 4990 (49) 18 (1B 39.5 P1875 B40-0256

*kplease refer to the list of dimension for specimensk m



I:I Y. g
| PULL BACK POWER CHUCKS

#ATURBICRFE O RRFEDEA - TFAR ¥ « ERRSERBERINT -
1. BTV TFRAEREE I » BRSISE  EREUH -

2. BB EERE » TIRMAER - IEREBRSIHEREE

3. EEMNBERNREDRETHA LFET » BRREFENNTREE -

4 ETRAENEA  BEEE LRI -

PuTl back feature of radial gripping will Tead to almost no work piece upTifting displacement:

CHANDCX Pull Back Power Chucks are ideal for machining casting and forging parts:

1.By appressing the gripped work piece to the surface.CHANDOX Pull Back Power Chucks are suitable
for heavy machining.

2.Chuck Actuators with cylindrical structure are durable and ensures high gripping repeatability.

3-Accurate self-centering and pull back features are adeguate for precise length control
machining reguirements.

4.Optional components can be selected for detecting the right position on an automated Toading

machine.
B UNITmen
G G J J
%ﬁ@ﬁ A 8 c D E fi max, min. H mox. mn.
PL-06 169 83 140 82.563 15 5 16 5 70 46 36
PL-0B 210 97 170 106.375 17 5 16.5 6.5 84 57 a7
PL-10 254 110 220 130.710 18 5 22 6 100 68 52
PL-12 304 125 220 139.719 18 5 21.5 5.5 120 72.5 56.5
7t /e A N
MERRSIEL I K L H Bax. W!NI!‘ HHF: ¥ lan. D R
ELUOT - 5-MLO0x1 5 14 104.8 56.65 54 33 23 85 82
PL0B 26 6-M12x1.75P 17 133.4 69.55 67 38 28 40 as
PL-10 32 6-ML6x2P 24 171.4 87.8 82 48 32 50 50
PL-12 36 6-M16x2P 20 171.4 102.8 97 47 31 60 52
. HRITE i ) BaanE BANN
2l S ] Plunger Stroke an Stroke Max. Speed Max.Pull Force
(am) [Diameter] rop.mmin kof (KN
- (mm) i
~ PL-06 36 M16x2P 10 5.3 3500 1420 14)
PEA0B S 36 Me0x2.5P 10 5.3 3000 2240 @2
pL-10 a6 M24x3P 16 1.6 2500 3160 (3D
pPL-12 50  M27x3P 16 11.6 2000 4480 (a0
BABRRT BANEREES »n o
! Max.Gripping Max.Hydr .Pressure REE
A i bl . R Gripping Range
kaf KN) (Mpa)
PL-06 2950  (29) 22 2.2 15.4 L1020 2352160
PL-08 4890  (48) 2 @2 27.8 L1225 @40-@210
PL-10 4990  (49) 30 @9 45.9 L1225 850-0254
PL-12 7240 (7D 3 .9 75.7 L1530 @50-@1304

TR | A ERT B K



TN B0 T AR 358
2-JAW STEEL BODY CHUCKS

1 IERIEEHERE TN -

2. MBS TRIEEERRE » AT T HEE -

3. A MUK B TIEECNCER PR EE ML FS -

4 MREERSREBRT NS  MEMSE  EREnR -
5. IBEIRFHEDBU)EIEIRES -

6. P TSRERE IR SR TIEM

N

I—ﬂ@@%——f—%J[

B = = [TV R 2830
3-JAW STEEL BODY CHUCKS

1.Can be used as a "Farming plate” for machining soft Jaws.

2.Hard Jaws and soft Jaws can be adjusted Just TiKe on & power chuck to increase the
gripping range.

3.Hard Jaws as well as soft are interchangeable with those of power chucks.

4.Chuck Body is made of steel to enhance safety operations for nigh speed machining.

b.The Chuck Handle can be operated easily and smoothiy.

6.2-Jaw Steel Body only provide the pawerful typo soft Jaws.

cA

Y3 T auEE RN

S LIEE B T A B AR T HERE T T B s AR R AL A A MEHEZE AR = ML R AR
The chuck can be used as a Too Jaws can be adjusted back Hard Jaws are interchangeble Soft jaws are irterchangeable Optional accessory:
“Forming plate” for machining ard forth easily.thus increasing with these of power chucks. with those of power chucks. Mounting plate
soft jaws. gripping range.
WM o
TNT - i
kA A B c 0 = F G H J K L M R Wan Suwud ,;’;““"“ "',,','é";' Bn
MODELSPEC, Fip ity ;.n.wm :.o.g];iu gl
TNT-07 183 78 155 172 58 5 3-M10x1.5P 73 31 38 11 20 12 azoo ©8-D235 ©66~0235 14.4
TNT-09 233 85 190 210 70 5.5 3-M12xl.75P 95 3 40 12 25 14 2800 ©011-2280 ©85-0280 22.3
NT
B0/
MODEL/SPEC
NT-07 193 78 155 172 58 5  3-M10x1.6P 78 28 46 11 20 12 3200 @8-0235  O66~@235 13.1
_ N-(3 28 85 190 210 70 5.5 3-Mlaxl.75P %2 32 52 12 25 14 2800 PNoRd80 Ras-Rea 212 |
NT-10 275 91 230 250 B89 5.5 3-M12xl.76FP 101.5 37 56 12 30 16 2400 @12-@330 P92-@330 30.5
NT-12 310 104 260 285 105 7 3-M12x1.75P 116 47 67 14 30 2L 2100 @15~@370 B104~D370  46.1

*kplease refer to the list of dimension for specimens



B = T3EE
3-JAW SCROLL CHUCKS

- Mounting

H
s
| |
|F
.||-

FHUNIT:mm
Al AR A B c 0 E E G H J K L ] u!.ér!luﬁlgmur
MODELSPES. : T i o_g‘.mu ;.?Ef.'!.m Mw:;‘
) i)
sc-03 8 45 60 73 16 3.5 3-MBx1P 35 11 15 7 3200 B8-0235  BARE-03235 14.4
SC-04 112 58 80 95 24 4.5  3-MBxL.25P 42 14 17 8 2800 ©11-@280 @85-@280  22.3
sCc-05 132 60 100 115 32 4.5  3-M8xl1.25F 50 16 20 B 3200 OB-0235  D6-0235 14.4
SC-06 167 66 130 147 45 5  3-MIOX1.5P 65 19 23 10 2800 ©11-0280 @B5~B280 22.3
sc-07 193 76 155 172 58 5  3-MlOx1.5P 75 22 28 1 2800 ©11-@280 @85~@280 22.3
SC-08 208 76 160 176 58 5  3-MlOx1.5p 75 22 28 1 3200 @8-@235  O66~@235 13.1
©sc-08 233 84 190 210 70 5.5 3-MI2x1.76F 85 24 34.5 12 2800 @11-0280  @85-@280 1.2
sC-10 273 86 230 250 89 5.5 3-Ml2x1.75P 98 28 39 12 2400 ©12-9330  ©92-2330 30.5
sc-12 310 9 260 285 105 7 3-Ml2x1.75p 110 30 45 14 2100 D15~@370  @104~@370 46.1
sc-14 355 112 300 328 127 7  6-Ml12x1.75P 132 36 50 15 2400 ©12-9330  ©92-@330 30.5
 sc-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 2100 D15-@370  @104~@370 46.1
ORI = TR
3-JAW STEEL BODY CHUCKS
| R+ » Dimensions
IR B3R
Front Mounting Rear Mouniing SKBE!
G
f==—n,
I
I —
@
BB ALUNIT:vim
. EEEE
BEDEE Wax Eripaing Oisster
Bame A B C ] E Ei G H J K L o s jaes 1.?@-, J.EE.
(L H
SK-04 112 58 80 95 24 4.5  3-MBx1.25F 47 19 31.5 B 2500 @3-0100  ©35~@93 3.45
© sK-05 132 60 100 115 32 4.5 3-M8x1.25P 57 24 36 B 2500 @3-9123  @43-@122 5.0
 SK-06 167 66 130 147 45 5 3-M10x1.5F 68 26 39 10 2000 DE-B160  @55-@150 8.6
sk-07 193 76 155 172 58 5  3-MlOx1.5P 82 28 43 11 2000 ©8-0180  @62-@170 12.8
SK-0B 203 76 160 176 58 5 3-M10x1.5P g2 28 43 11 2000 28-2180  @62-@170 14.1
~ sk-09 233 g4 190 210 70 5.5 3-M12x1.75P 93 32 50 12 2000 2112220 @70~-2210 20.4
273 86 230 250 89 5.5 3-Ml2xl.75p 102 36  84.5 12 1800 Dizvnze  e0sgRs0 26.7
310 9 260 285 105 7 a-Ml2x1.76P 118 40 56 14 1800 ©15-8300  ©90-©290 3.3
355 122 300 328 127 7 &-Ml2x1.75PF 139 45  70.5 15 1500 ©25-@350 @110~@320 60.7
405 122 345 375 160 8  6-Ml4x2P 150 50 75 15 1500 ©30~@400  @110~@380 82.3
500 140 420 458 205 5.5  6-Ml6x2P 140 55 B4 19 1000 ©25-0480 ©125-0460 145.5
630 140 545 586 275 6.5  6-M16x2P 140 70 92 19 850 ©80-@630 ©198-@501 221.3
630 140 545 BE6 320 6.5  6-Ml6x2P 140 70 92 19 850 BI60-O6  DI7A-TeA6 208.5

___ P19 HUERTEHE K



T3 o 22 B 5L ER
2-JAW HIGH SPEED HOLLOW POWER CHUCKS

1. B FRERI0 & « (EEEEEER -
2. BEERE » TR L BERE -
3 AMERIOSIRAT » REIES

4 BT OIEEAET -

1.The handle with an angle of 30 degrees 7s much
convenient for operations.

2.The "super thin thickness™ desiagn of chucks increase
the “allowable distance” of mechining operations.

3.Chuck flange makes loading and unlcading operations
simpler and more convenient.

4.Hard Jaws and Doft Jaws can be used alternatively.

oA
oAl

EUNITrm

et ] Al A2 B1 B2 c 0 E F G

il 220 =479 i 18 130 197 ] & S M0l .5F

NBK-08 | 270 210 65 20 155 172 B0 6 3-M10x1.5P

NBK-10 315 255 73 20 190 210 80 6 3-M12x1.75P

NBK-12 370 305 80 22 250 285 105 § 3-M12x1.75P
ﬂﬁﬁﬂﬁ H J K L " un.w»ﬂgmgm Hz:‘
MODEL/SPEC. n.mgu I.ﬁﬁgnl L

1o im}

NBK-06 68 26 40 10 13 @8~0160 @48~@150 10.6 i

NBK 08 82 2t o i 13 211-9200 ps2-gae 1.1 |
 NBK-10 93 3z G2 12 16 ©12~0250 @72~@240 27.9

NBK-12 118 40 59 14 18 @15~@300 @86~@290 42.9

M HEEER
SUPER THIN SQUARE CHUCKS

1. MG A3t (E (AR AR 2 TR X, ¥, /BB
BEEAZR0.05mA -

2 MCRIBIFTRIREN + (FRRRIIZ T « DUEHKALAA
— . EAR BER P5E-

- 3. MBI R AER0. 02mbIF -

4 QUBPATIRIER « BTS2 TATAEAR0- 05mIses -

1.MC chucks are precisely ground,the tolerances of W.X.Y.Z
among cnucks are within 0.0bmm.

2.Soft Jaws can be used alternatively for machining special
shaped work pieces.to substitute for designing and
making a lot of jigs for this purpose.

3.The repetitive dripping accuracy with the hard Jaws are

M within 0.02m.

4.Parallel gripping accuracy with hard Jjaws can be
controlled within 0.05mn after aligning sides of chucks.

BUNTrm
DR A 8 C D E F G H 3 K L
MC-06 . 215 57 18 130 40 5.5 4-M10x1.5P 68 26 39 14
MC-08 250 65 20 160 55 6 4-M12x1.75P 82 28 43 17
| Gt LN Iz GE] 200 2 L Aodldace B 32 oA 21
LT 380: 2h 2= 208 L 7 4 MLk i 40 86! 23
e wma-\ r R
T A A 3 . J
MOBEL/SPEC M " £ 8 R = v R "l
el aat
MC05 14 165 148 165 66 18 043128 055-0128 1.4 |
MC-08 174 200 174 200 83 18 B5~2162 @62~@162 18.6
MC-10 218 250 218 250 104 18 S6~@B200 a72-@200 31.6
MC-12 274 310 274 310 135 22 @10-@265 B0~@3265 56.6

*kplease refer to the list of dimension for specimens




TERRERERARAS
41143 B K F & % & B 157 & 24 5%
S¥13E8  (NCERAAMN \ ZANEBAAEMN \SrALRZTELE

% 7 % i#% Company : B A
‘g 34 Tel: ( )— MAE#Fax: ( )— a¥: % A 4
I b iots a9 f/\_L
(Y 70N ;% =
Nelad A1) H\/_ur
c-1 | - |
l—=C-6 C-7 Cc-8 | |
S PN e ‘L |
c-9 -
g | 5
C—-10 & i
| § 0
AAAAAANAANAAAANNAN/ . i O
— — : - |——|C_18 1 }
PITCH é_g:ggc cC—4
HHRRTHEB R
PLEASE FILL THE BLANKS BELOW, IF YOU NEED SPECIFIC ONE(S)
C-1: C-2: C-3: C4.: C-5: C-6: C-7:
C-8: C-9: C-10: C-11: C-12: C-13: P:
TEEENMRTHRBR
PART. NO.,. C-1 | C-2|C-3|C4|C-5| C-6 |C-7/C-8|C-9 C-10/C-11|C-12|C-13
CH-04 | 50 | 27 | 30 | 10 | 4 10 (14| 26 (135 9 | 21 | — 3
CH-05| 62 | 27 | 30 | 10 | 4 10 |14 | 38 |135| 9 | 21 = 3
CH-06 | 73 | 31 | 36 | 12 | 5 (15(10)| 20| 38 | 17 | 11 | 23 | — |14(3)
CH-08 | 95 |35 |38 | 14 | 5 |24(14)| 25| 46 | 19 | 13 | 23 |20.5(16(3)
CH-10 | 110 | 40 | 42 | 16 | 5 (30(20)| 30| 50 | 19 | 13 | 27 [20.5|18(3)
CH-12 | 129 | 50 | 50 | 18 | 6 |39(16)| 30 | 60 | 23 | 16 | 30 | 20 |20(5)
CH-12x| 129 | 50 | 50 [(21)| 6 [39(18)| 30 | 60 | (26) [ (A7) | 30 | 20 |20(5)
CH-15 | 165 | 62 | 62 | 22 8 |37(21)| 43 | 85 | 32 | 21 38 185 | —
CH-21 |180| 64 | 70 | 25 | 9 40 |60 | 80 | 32 | 21 | 45 | — =
CH-24 |180| 64 | 70 | 25 | 9 40 |60 | 80 | 32 | 21 | 45 | — =

SUPER JAW INDUSTRY CO.,LTD.

NO.24, Ln.157, YUNG FENG Rd., TAIPING Dist., TAICHUNG CITY 411, TATWAN
T E L : 886-4-22785378 F A X :886-4-22706809

P2l AR 82



TERRERXRGA RS

41143 & F H K F & &k 8 B 157 & 24 5%

B¥mEE c (NCERABAMN \ ZABAAMN \SHBR ST
% 7 % % Company . 1 S
g #Tel: ( )— MAE#Fax: ( )— A¥: & A A
c-9
&y T @il
~1 . wy_?
; Cc-1 ; : c-2 .
| I I
c-11 i‘ &
Cc-8
4 c-t2 L ] | |
I T [ . — ——Cc-7
|
%‘l ! ——Ic—sL—
c—4
BRRTHEE.R
PLEASE FILL THE BLANKS BELOW, IF YOU NEED SPECIFIC ONE(S)
C-1: C-2: C-3: C4: C-5: C-6: C-7:
C8:___ C9: C-10: C-11; C-12: C-13:
SEBENRTHER
PART. NO.|C-1 |C-2(C-3|C4 | C-5|C-6|C-7|C-8|C-9 [C-10C-11|C-12/C-13
SK-04 | 52 | 19 [ 30 | 24 (1953 |7.94| 2.5 3 26 | 21 11 7 3
SK-05 | 62 | 27 | 35 | 32 [12.68/7.94| 3 35 | 31 24 [13.8| 9 3
SK-06 | 78 | 27 | 37 |38.1(12.68/ 794 | 3 35 [41.5| 25 [ 13.8]| 9 5
SK-07 | 95 | 31 48 (44.45/12.68/794 | 3 35 (475 | 35 17 11 | 10
SK-09 | 110 37 | 50 | 54 (19.03/12.7| 3 35| 55 36 19 13 | 15
SK-10 | 110 (| 37 | 50 | 54 (19.03/12.7| 3 35| 55 | 36 19 13 | 15
SK-12 | 125 | 40 | 50 | 63.5 (19.03/12.7| 3 3.5 [62.5| 36 19 13 | 17
SK-16 | 160 | 50 | 70 | 76.2 (19.03/12.7| 6 55| 80 48 26 17 —
SK-20 | 160 | 50 | 70 |76.2 |19.03/12.7| 6 55| 80 | 48 | 32 21 | —

SUPER JAW INDUSTRY CO.,LTD.

NO.24, Ln.157, YUNG FENG Rd., TAIPING Dist., TAICHUNG CITY 411, TATWAN
F AX: 886-4-22706809

TEL: 886-4-22785378

*please refer to the list of dimension for specimen>



